AP Calclulus Ch. 2 Test Concept Review: Implicit Differentiation
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For each problem, use implicit differentiation to find &;&g in terms of x and y.

1)
x*+yr =4

3)1—xy=x—y

2)

x2 ~ y2 =36



For each problem, use implicit differentiation to find g% in terms of x and y.

4) y? = 10x 5) 4y%+ 2 = 3x?

6)

The slope of the tangent line to the graph of x* - 23° + xy = 0 at the point (I,i) is
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For each problem, use implicit differentiation to find gﬁ’? in terms of x and y.
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2,
For each problem, use implicit differentiation to find g}% in terms of x and y.

4) y% = 10x 5) 4y2 + 2 = 3x?2
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The slope of the tangent line to the graph of x* - 2)° +»?€[.?_” 0 at the point (1,1) is X3~ 7, 3-{- (X)(j) =0
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